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SpJwd N, M b K pytiph nhiypnid Juukibp, np K Gplupnipyut quibquop gtinkighl t, Gt tpu pnnp
wmwpptinp M -p ygipuquiignn phiuub pytp Gh W wyn pnnp mupptph wpununppup hwiphuwinud £ N pyh
pwdwbwpuwn: Ophtimuy N = 12, M = 6 b K = 4 pPYtiph niypmd {1, 2, 2, 3} b {1, 1, 6, 1}
qubquottinp qtintighy &b, puy {-1, 1, -6, 1}, {1, 12, 1, 1} U {1, 2, 3, 4} quigquolbpp ny:

Qtiq mpJwd G N, M, L K pytp: <wpluynp £ hwpyly ponp ginkghly quiigqudttph pwbwyph' 10°+7 -h
pwdwbitijhu unwgynn Whwgnnpnp:
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Uninph thuy mnnnid mpgud Gb dbjuub ppgumwbhytipn wigwmyud N, M W K phwlub pytpn:
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Gpnid whinp £ wipnwdty Ut phy pnpnp htwpuynp ginkghly quiigqudtitph pwbwyh' 10°+7 -h pudwbtjhu
umnwgynn dhwgnpnp:
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Wnwehli ophiujht hwdwwyumwuhawbing gbintighly qubgguottpd o {1}, {2}, {3}, {6} qubqyuodttipp:
Gnynnpn opphtiwjht hwiwwyuwnmwupuwbnn qintighl) quiquidttint o
{1, 1}, {1, 2}, {1, 3}, {1, 4}, {2, 1}, {2, 2}, {2, 3}, {3, 1}, {3, 2}, {3, 4}, {4, 1}, {4, 3}
quiquotitinp: Gppnpn ophtiwjht hwiwwywmwupuwbinn qintigh quibgqyuobttint it 1000000 hwn 1 -hg
Juquyud quibiqyuon b pnnp wyh 1000000 tpjuipnipyub qubqyuobtinp, npntn pytphg ukhp 2 L, dhwgwop’
1:
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e Glpwhblnhp 0 (0 Whudnp) Ophtyutipp,
o Ghpwhinhp 1 (10 shuynp) K = 1, 1 < N, M < 1012,
, K<107, M < 107, 1 < N < 10%2,

e Glhpwhbnhp 2 (10 dhwynp) 1 < M

o Glhpwhinhp 3 (10 shuynp) 1 < K < 3, 1 < N, M < 10°,

o Ghpwhinhp 4 (10 shuynp) 1 < K < 30, 1 < M = N < 10°,
o Ghpwhinhp 5 (30 dhuynp) 1 < K < 30, 1 < M, N < 107,

o Ghpwinhp 6 (10 dhwynp) 1 < K < 5000, 1 < M, N < 10°,
o Ghpwhinhp 7 (10 shurynp) 1 < K < 10°% 1 < M, N < 10°,
e Glpwlulnhp 8 (10 dhwyynp) 1 < K < 108, 1 < M, N < 10°:



Qrunmupl ukityuybbipp

duniwimh vwhiwbwthwlnid” 2 Juyplyub
<hznnnipjui uwhiwiwthwlnui' 256 MB
Uohnp' 100 dhunp

Guipunpulip
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wdkiiwthnpp ny puguuwlub wdpnnye phy, np pugujuynid £ wmyjuy puquinieiniihg: Ophbuy

mex(@, 1, 3, 7) = 2:
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2n - 1 pytpny: Unubwynpuwytiu i -pn hwdwph §nnht huniwgqunmwuuwting mnnnmd mpdud £ Gplne
wdpnne phy a; W by (1 £ a; < b; < n),npp wbwlnd £, np a; hudwph ququpp dhugywod £ by
hudwph ququiphlt | i/2 | hudwph gnyb niiignn nignnpyyud Ynnny:
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mex PpnLiyghuyh wnwtijugnyt wpdtipp uvnmwgynid £ 1->2->3->4 (Ynntph wipdbpabpn
hudwwyuwwmwupuwbwpwp 0, 2, 1) Gwbhwwywuphp nhunwpytjhu, mex(@, 1, 2) = 3:
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* Ghpwhblnhp 0 (0 dhunp) ophtwlp,

e Glhpwhubnhp 1 (10 Whwynp) tipwyhuwynpnid £, np gnynipynilt nubh wnwygtjugnyt mex nilitignn
Gwbwwwnh, npntn Ynntiph gnybtiph hwdwpabtpp hwimhwnid G wédwb Juingny,

e Glpwhbnhp 2 (15 dhwynp) n < 10,

e GlUpwhlnhp 3 (20 dhwynp) n < 18,

¢ Glpwhlnhp 4 (25 dhwynp) n < 100,

e Glhpwhlnhp 5 (30 Whwynp) jpugnighs vwhiwbwthwndbtip siub
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tipqupnipyubt a quiqyuon Ynyynid L wbhwuuwp, tplh juduwyuyub i pyh hwdwp, nputn (1 < i < n)
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* Gupwfutnhp 0 (0 Whwynp) Ophtwyp,



Glpwhitinhp 1 (6 dhwynp) n < 20, r; < 2,

Glpwhitnhp 2 (23 dhwynp) r; < 3,
Glpwhbtnhp 3 (15 dhwynp) r; < 15,
Glpwhitnhp 4 (20 dhwynp) r; < 50,

Glpwhitinhp 5 (36 Wwhwynp) jpugnighy vwhdwiwthwynidabp squb



